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NEW QUESTION 1
You are reviewing the data model shown in the following exhibit.

Customer

Product

Key: CustomerID
Foreign Keys: None

Key: ProductlD
Foreign Keys: None

e ol

Foreign Keys: CustomerID, ProductID,

Sales
Key: SalesID,

SalesPersonlD. WarehouselD

SalesPerson
Key: SalesPersonID

A

o

Foreign Keys: None

Use the drop-down menus to select the answer choice that completes each statement based on the information presented in the graphic.

Warehouse
Key: WarehouselD

Foreign Keys: None

NOTE: Each correct selection is worth one point

The data model is a [answer choice]. v
! transactional model
| star schema
|
. snowflake schema
Customer is a [answer choice] table. v
! fact
' dimension
- bridge
A. Mastered
B. Not Mastered
Answer: A
Explanation:
The data model is a [answer choice]. £
. transactional model
__star schema _ _ _
_ snowflake schema
Customer 1s a [answer choice] table. v
fact
T
. dimension
bridge

NEW QUESTION 2

To complete the sentence, select the appropriate option in the answer area.

Brawer ren

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Andovert Aren

TOu S5 Query b raph SaLease In AzEe iy
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NEW QUESTION 3
Your company has a reporting solution that has paginated reports. The reports query a dimensional model in a data warehouse. Which type of processing does the
reporting solution use?

A. stream processing

B. Online Transaction Processing (OLTP)
C. batch processing

D. Online Analytical Processing (OLAP)

Answer: D

NEW QUESTION 4
At which two levels can you set the throughput for an Azure Cosmos DB account? Each correct answer presents a complete solution.
NOTE: Each correct selection is worth one point.

A. container
B. item

C. database
D. partition

Answer: AC

NEW QUESTION 5
To complete the sentence, select the appropriate option in the answer area.

Transcribing audio files 1s an example of w analytics.
cognitive
descriptive
predictive
prescriptive
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Transcribing audio files is an example of w analytics.
P
| cognitive
descriptive
predictive
prescriptive

NEW QUESTION 6
For each of the following statements, select Yes if the statement is true. Otherwise, select No. NOTE: Each correct selection is worth one point.

Anpwer Arep

Statements Yes MNo

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Arciwer Area

Statements Y Ma
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NEW QUESTION 7

Match the tools to the appropriate descriptions.
To answer, drag the appropriate tool from the column on the left to its description on the right. Each tool may be used once, more than once, or not at all.
NOTE: Each correct match is worth one point.

Tomshi it Aida
Lhew Dath beoma

Mhecro i $LE, eprowe Dta
Togs SE0T

Lharogof S, Seres
Llararemerd Suda [NIRL)

Mol Whinas Tt Code

A. Mastered
B. Not Mastered

Answer: A

Explanation:

e e

o

e

NEW QUESTION 8

Tk A grapharl T o7 g Alure S0 CHiDale B veing SOL EvaLOs
e
Bgel o il B Sare eterue TR Peprrh mvwecteed b WL itee e

TR B Y b e R

Fomdl A Bl iR P il TR (080 W Guaer 9 e R R

i den, JEON o Shpcacht Dosl S

s A PSS B0l 4 By Apure SOL dilatunri, Misoeof T8 T
plataneal SR SO, e A Seveen (5501 daw ooty SO0
Japrwr im0 Serdoey SOREED mucioeger, e B4 Senve Baparing: Terces

TRL nrgwrti

Wlimyono SO Sareer Daid
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Harryr irstngranon Tvaon (LS padlager. and 508 Seeom Reporine Teevioem

ERE] rypewts

To complete the sentence, select the appropriate option in the answer area.
An extract, transform, and load (ETL) process

requires

a matching schema 1n the data source and the data target.
a target data store powerful enough to transform data.

data that is fully processed before being loaded to the target data store.
that the data target be a relational database.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

An extract. transform, and load (ETL) process

requires

! a matching schema in the data source and the data target.
a target data store powerful enough to transform data.

' data that is fully processed before being loaded to the target data store.

"that the data target be a relational database.” '

B T i e R W i s D el Rl S it il i

NEW QUESTION 9

For each of the following statements. select Yes if the statement is true. Otherwise, select No. NOTE Each correct selection is worth one point.

Answer Area

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Anywer Arey

NEW QUESTION 10

To complete the sentence, select the appropriate option in the answer area.
RREWET RTEA

A. Mastered
B. Not Mastered

Answer: A

Explanation:

RIEWET Erea

NEW QUESTION 10
You have an Azure Cosmos DB account that uses the Core (SQL) API.

Which two settings can you configure at the container level? Each correct answer presents a complete solution. (Choose two.)

NOTE: Each correct selection is worth one point.
A. the throughput

B. the read region

C. the partition key

D. the API

Answer: AC

NEW QUESTION 14

|

-

For each of the following statements, select Yes if the statement is true. Otherwise, select No. NOTE: Each correct selection is worth one point.

Statements

Azure Table storage supports multiple read replicas.
Azure Table storage supports multiple write regions.

The Azure Cosmos DB Table API supports multiple read replicas.

The Azure Cosmos DB Table API supports multiple write regions.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Statements Yes No
Azure Table storage supports multiple read replicas. _D_ O
Azure Table storage supports multiple write regions. ®) : Ol
The Azure Cosmos DB Table API supports multiple read replicas. ' 0 e
The Azure Cosmos DB Table API supports multiple write regions. 'O 0

NEW QUESTION 18

For each of the following statements, select Yes if the statement is true. Otherwise, select No. NOTE: Each correct selection is worth one point.

Statements Yes No
Azure SQL Database includes a fully managed backup service. ') ®
Azure SQL Database has built-in high availability. ®) O
Azure SQL Database can use Azure Advanced Threat Protection (ATP). O O
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Statements Yes No
Azure SQL Database includes a fully managed backup service. "0, ®
Azure SQL Database has built-in high availability. O : 0O
Azure SQL Database can use Azure Advanced Threat Protection (ATP). 1O, O

NEW QUESTION 21

You have a quality assurance application that reads data from a data warehouse. Which type of processing does the application use?

A. Online Transaction Processing (OLTP)
B. batch processing

C. Online Analytical Processing (OLAP)
D. stream processing

Answer: A

NEW QUESTION 23

For each of the following statements, select Yes if the statement is true. Otherwise, select No. NOTE: Each correct selection is worth one point.

Statements Yes

Azure Databricks 1s an Apache Spark-based collaborative
analytics platform.

Azure Analysis Services is used for transactional workloads. O

Azure Data Factory orchestrates data integration workflows. O

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Statements Yes No

Azure Databricks 1s an Apache Spark-based collaborative

analytics platform. il O
Azure Analysis Services is used for transactional workloads. O zo ;
Azure Data Factory orchestrates data integration workflows. 'O, O

NEW QUESTION 27
Match the types of data to the appropriate Azure data services.

To answer, drag the appropriate data types from the column on the left to its service on the right. Each data type may be used once, more than once, or not at all.
NOTE: Each correct match is worth one point.

Dt Typers: At bl

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Data Trpes ' Anarte rty

NEW QUESTION 30
To complete the sentence, select the appropriate option in the answer area.

Transparent Data Encryption (TDE) encrypts v

a column to protect data at rest and in transit.

quertes and their results i order to protect data in transit.
the database to protect data at rest.

the server to protect data at rest.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Transparent Data Encryption (TDE) encrypts hd

a column to protect data at rest and in transit.

queries and their results in order to protect data in transit.
the e 0 protct dat at st

the server to protect data at rest.

NEW QUESTION 34

For each of the following statements, select yes if the statement is true, Otherwise, select No. Note: Each correct selection is worth one point.
Anpwed Area

Statementd Yied N
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

Briwer Ares

Satgments Yeq Mo

NEW QUESTION 35

You have a SQL pool in Azure Synapse Analytics that is only used actively every night for eight hours. You need to minimize the cost of the SQL pool during idle
times. The solution must ensure that the data remains intact.
What should you do on the SQL pool?

A. Scale down the data warehouse units (DWUS).
B. Pause the pool.

C. Create a user-defined restore point.

D. Delete the pool

Answer: B

NEW QUESTION 40
You need to use Transact-SQL to query files in Azure Data Lake Storage from an Azure Synapse Analytics data warehouse.
What should you use to query the files?

A. Azure Functions

B. Microsoft SQL Server Integration Services (SSIS)
C. PolyBase

D. Azure Data Factory

Answer: C

NEW QUESTION 43
Which two Azure services can be used to provision Spark clusters? Each correct answer presents a complete solution.
NOTE: Each correct selection is worth one point.

A. Azure Databricks

B. Azure Log Analytics

C. Azure Time Series Insights
D. Azure HDinsight

Answer: AD

NEW QUESTION 47
For each of the following statements, select Yes if the statement is true. Otherwise, select No. NOTE: Each correct selection is worth one point.

Statements Yes No
You must apply patches to Azure SQL databases regularly. O O
You need a Microsoft 365 subscription to create an Azure
O O
SQL database.
You can use existing Microsoft SQL Server licenses to
reduce the cost of Azure SQL databases. O O

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Statements Yes No
You must apply patches to Azure SQL databases regularly. O O
You need a Microsoft 365 subscription to create an Azure
O O
SQL database.
You can use existing Microsoft SQL Server licenses to
reduce the cost of Azure SQL databases. O O

NEW QUESTION 51
Which type of non-relational data store supports a flexible schema, stores data as JSON files, and stores the all the data for an entity in the same document?

A. document
B. columnar
C. graph

D. time series

Answer: A

NEW QUESTION 53
Which Azure storage solution provides native support for POSIX-compliant access control lists (ACLs)?

A. Azure Queue storage

B. Azure Data Lake Storage
C. Azure table storage

D. Azure Files

Answer: C

NEW QUESTION 55
You have the following SQL query.

INSERT INTO dbo.Praducils (PraductID, Prodecthsne; Price, ProdectDederlption)

Lanp ba. 4a srebench ¢lamp

NOTE: Each correct selection is worth one point.
Antwed AFed

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Answer Ared

NEW QUESTION 59

Match the types of data stores to the appropriate scenarios.

To answer, drag the appropriate data store type from the column on the left to its scenario on the right. Each data store type may be used once, more than once,
or not at all.

NOTE: Each correct match is worth one point.
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Data Store Types Answer Area
Graph Application users and their default language
Object Medical images and their associated metadata
Key/value Employee data that shows the relationships between employees
A. Mastered

B. Not Mastered
Answer: A

Explanation:
Data Store Tvpes Answer Area

e | R . L.
| Graph ) Key/value = Application users and their default language
Object | Object ]r Medical images and their associated metadata
'l Key/value | Graph J' Employee data that shows the relationships between employees

—

NEW QUESTION 64
What should you use to build a Microsoft Power Bl paginated report?

A. Power Bl report Builder
B. Power Bl Desktop

C. Charticulator

D. the Power Bl service

Answer: B

NEW QUESTION 65

You have an e-commerce application that reads and writes data to an Azure SQL database. Which type of processing does the application use?

A. stream processing

B. batch processing

C. Online Analytical Processing (OLTP)
D. Online Transaction Processing (OLTP)

Answer: D

NEW QUESTION 68

For each of the following statements, select Yes if the statement is true. Otherwise, select No. NOTE: Each correct selection is worth one point.

Statements Yes No

When ingesting data from Azure Data Lake Storage across

Azure regions, you will incur costs for bandwidth. O O
You can use blob, table, and file storage in the same Azure O
Storage account.

You implement Azure Data Lake Storage by creating an O O

Azure Storage account.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Statements Yes No

When ingesting data from Azure Data Lake Storage across -

Azure regions, you will incur costs for bandwidth. i 9
You can use blob, table, and file storage in the same Azure ' O
Storage account. .

You implement Azure Data Lake Storage by creating an e o

Azure Storage account.

NEW QUESTION 70

Your company is designing a data store tor internet-connected temperature sensors. The collected data will be used to analyze temperature trends. Which type of

data store should you use?
A. relational

B. columnar

C. graph

D. time series

Answer: A

NEW QUESTION 75

For each of the following statements, select Yes if the statement is true. Otherwise, select No. NOTE: Each correct selection is worth one point.

Aryvers Ares

Statementy Yes

have § platt an N eeed g 5 A §1s T ETF T

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Anivwet Area

Seatements Vs

NEW QUESTION 78

Which three objects can be added to a Microsoft Power Bl dashboard? Each correct answer presents a complete solution. (Choose three.)

NOTE: Each correct selection is worth one point.

A. a report page

B. a Microsoft PowerPoint slide
C. a visualization from a report
D. a dataflow

E. a text box

Answer: ACE

NEW QUESTION 79

Which storage solution supports role-based access control (RBAC) at the file and folder level?
A. Azure Disk Storage

B. Azure Data Lake Storage

C. Azure Blob storage

D. Azure Queue storage

Answer: B

NEW QUESTION 84
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What is a benefit of the Azure Cosmos DB Table API as compared to Azure Table storage?

A. supports partitioning

B. provides resiliency if art Azure region fads
C. provides a higher storage capacity

D. supports a multi-master model

Answer: B
NEW QUESTION 87

You need to create an Azure Storage account.
Data in the account must replica outside the Azure region automatically.

Which two types of replica can you us for the storage account? Each correct answer presents a complete solution.

NOTE: Each correct selection is worth one pint.

A. read-access geo-redundant storage (RA_GRS)
B. zone-redundant storage (ZRS)

C. geo-redundant storage (GRS)

D. locally-redundant storage (LRS)

Answer: AC
NEW QUESTION 90

To complete the sentence, select the appropriate option in the answer area.
Angweet Area

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Angwer Area

NEW QUESTION 93
To complete the sentence, select the appropriate option in the answer area.

In batch processing,

data i1s always inserted one row at a time.

data is processed in real-time.
latency is expected.
processing car only execute serially.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

In batch processing.

data 1s always inserted one row at a time.

data 1s processed in real-time.
latency is expected.
processing car only execute serially.

NEW QUESTION 95
You have an inventory management database that contains the following table.
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ProductName | Quantity
1 Product] 100
| Product2 [ 129
| Product3 1 76

Which statement should you use in a SQL query to change the inventory quantity of Productl to 270?
A. INSERT

B. MERGE

C. UPDATE

D. CREATE

Answer: C

NEW QUESTION 96
To complete the sentence, select the appropriate option in the answer area.

i
)

Angwer Area

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Paginated Reports
https://powerbi.microsoft.com/en-us/blog/announcing-paginated-reports-in-power-bi-general-availability/

NEW QUESTION 98
To complete the sentence, select the appropriate option in the answer area.

Anfwer Area

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Rrwwer Area

NEW QUESTION 103
You are deploying a software as a service (SaaS) application that requires a relational database for Online Transaction Processing (OLTP). Which Azure service
should you use to support the application?

A. Azure Cosmos D3

B. Azure Synapse Analytics
C. Azure HCMmtghi

D. Azure SQL Database

Answer: B

NEW QUESTION 105

A team of developers has computers Thai run Windows 10 and Ubuntu Desktop.

The developers need to connect to and query an Azure SCX database from the computers. The developers require code assistance features such as intellSense.
What should the developers use ?

A. Azure Data Studio

B. sqlcmd

C. Microsoft SQL Server Management Studio (SSMS)
D. Azure Data Explorer

Answer: B
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NEW QUESTION 106
To complete the sentence, select the appropriate option in the answer area.

In Azure Data Factory, vou can use w to orchestrate pipeline

a control flow

a dataset

a linked service

an integration runtime

activities that depend on the output of other pipeline activities.

A. Mastered
B. Not Mastered

Answer: A
Explanation:
In Azure Data Factory, you can use w to orchestrate pipeline
acontrol flow_ |
a dataset
a linked service

an integration runtime

activities that depend on the output of other pipeline activities.

NEW QUESTION 107
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